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Good Answer Guide 2023

The Good Answer Guide 2023 is based on the 2022 Japanese: Second Language ATAR Course
examination. It provides samples of good answers and comments that describe what makes the answers
good. We hope that students and teachers will find this guide useful in preparing for examinations.
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How to

use this Guide

Before reading the good answers:

e Familiarise yourself with the written examination design brief in the Year 12 Japanese:
Second Language ATAR Course Syllabus:

e Familiarise yourself with Appendix 2 — Text type list, also in Year 12 Japanese: Second
Language ATAR Course Syllabus. This list is provided to enable a common understanding of the
text types listed in the syllabus.

While reading the good answers:

e Read each exam question carefully and ensure you understand what it is asking. Make sure
you read all parts of the question.

e Read the instructions associated with each question.

e Read the answers to each question and think about how they are similar and different.
Discuss this with a peer or teacher.

e Read the comments to build an understanding of what makes the answer good.

e Write down, or highlight, and learn words that are new to you.

e Write down, or highlight, and learn phrases that would be useful in your own writing.

e Pay attention to the way each answer is organised.

e Write down or highlight the conventions used for the relevant text type.

After reading the good answers:

Activities

e Plan your own response to each of the questions.

e Write your response within the suggested working time.

e Read back over your response and compare it to the comments made about the good
answers.

e Give your response to a peer, assistant teacher or classroom teacher who could provide
feedback.

e Use the comments on the good answers and feedback from your peer or teacher to write
an even better response.

e Read each text carefully

e Write your comments for each of the criteria
e Give a mark for each criterion

e Compare your marks with a peer and discuss


https://senior-secondary.scsa.wa.edu.au/syllabus-and-support-materials/languages/japanese-second-language
https://senior-secondary.scsa.wa.edu.au/syllabus-and-support-materials/languages/japanese-second-language

I Good answers...

. address all aspects of the question and/or stimulus

. include relevant details and examples

. use a range of grammar from the Year 12 Japanese: Second

Language ATAR Course Syllabus

use a wide range of sophisticated and relevant vocabulary

use productive kanji

show a very high level of accuracy

sequence information appropriately

use the conventions of the specified text type

have an appropriate ji count.



2022 Examination Section 3 Q29

Inmk

JAPANESE: SECOND LANGUAGE 18

Section Three
Written communication 30% (40 Marks)

This section contains two parts and three questions. Answer two questions in Japanese.

Part A: Stimulus response
There is one stimulus text and one question. Answer the question in Japanese.
Write approximately 250=300 ji using plain form, on the squared paper following the question.

Part B: Extended response
There are two questions. Answer one question in Japanese.
Write approximately 350-400 ji using polite form, on the squared paper following the questions.

Supplementary pages for planning/continuing your answers to questions are provided at the end
of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the
original answer where the answer is continued, i.e. give the page number.

Suggested working time: 60 minutes.

Part A: Stimulus response 12% (15 Marks)

Write your response to Question 29 on the squared paper following this question. Write
approximately 250-300 ji using plain form.

Question 29 (15 marks)

You have received the following email from a Japanese person. Respond to the sender’s
comments and questions by writing a reply email.

' ™y

TS

TTR? 1 2FEAOREREOMMITIE S 2?2 HU~A?
XL ITEENREATAL LTI GRS TZEHLTAH,
ORI, TARTA0TALMRENRSTZAE, EOLEL0NERS 2

AT




Answer key

Section Three
Written Communication 30% (40 Marks)

Part A: Stimulus response 12% (15 Marks)
Write your response to Question 29 on the squared paper following this section.
Question 29 (15 marks)

You have received the following email from a Japanese person. Respond to the sender’'s
comments and questions by writing a reply email.

Criteria | Marks

Content and relevance of the response to the stimulus text

Provides relevant and elaborated content relating to the information in the stimulus text,
addressing all of the following information:

* describes the study of Year 12 Japanese, including any challenges 3
« refers to the sender's study of English

* provides advice on how the student may improve their English.

Provides generally relevant and elaborated content relating to the stimulus text, addressing

the information above. 2
Addresses some of the information above with minimal detail. 1
Does not meet any of the above performance levels for this criterion. 0
Subtotal 3
Range of grammar
Effectively uses a wide range of grammar and sentence structures. 3
Uses a range of grammar and sentence structures. 2
Relies predominantly on a limited range of sentence structures. 1
Does not meet any of the above performance levels for this criterion. 0
Subtotal 3
Range of vocabulary and kanji
Uses a wide range of vocabulary, including productive kanji. 2
Uses a range of vocabulary, including some productive kanji. 1
Does not meet any of the above performance levels for this criterion. 0
Subtotal 2
Accuracy
Consistently uses language with a high level of accuracy. Inaccuracies do not affect meaning, 3

nor flow. Uses kanjilkana appropriately.

Uses language with a good level of accuracy. Word order is fairly accurate. Words including
kanjilkana are occasionally written inaccurately or inappropriately chosen. Inaccuracies 2
sometimes affect meaning or flow.

Maijor errors evident in word order, word choice and kanjilkana use. Difficult to comprehend

meaning. !
Does not meet any of the above performance levels for this criterion. 0

Subtotal 3

| Organisation

Writes a structured response. ldeas are connected clearly in an appropriate length. 2
Structure impedes some flow and understanding. Connections are simple and straightforward. 1
Does not meet any of the above performance levels for this criterion. 0

Subtotal 2

Conventions of the text type

Uses the conventions of a reply email and the required plain form register consistently:
* acknowledgment of reply

* appropriate greeting 2
* appropriate author and recipient
* casual sign off.

Uses some of the conventions of an email. Inconsistent use of the plain form register.

Does not meet any of the above performance levels for this criterion.

NO|=

Subtotal

Total

-
1]




IAnswer 1

Start your answer to Question 29 here.
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Answer 1 comments

Content and relevance of the Response to the Stimulus Text (3 marks)
v' describes the study of Year 12 Japanese, including any challenges.
v refers to the sender’s study of English.
v' provides advice on how the student may improve their English.

Range of grammar (3 marks)
v' Avery wide range of ATAR 12 grammar is used effectively:

~LEDH 5
~72%2% v" Volitional Form
. v 5
~TLZED , T}D\i 5
£ AT 1D
L v ~WT
Potential Form v ~Tb
Embedded Question v ~lt&Be~F51

Complex sentence structure is used:
ALY

¥yv-14& nio)ﬁ%“% ATTELD LI VAT,
%E\ﬁia&fn\f‘\5%57"—0)%“*12%3‘24:%:(,’(61’)0

o ¥
FRAMTLOE LIRS %L TH,
BENLEFITHLARLLTH,

SN N N S N S O N

Range of vocabulary and kanji (2 marks)
*\4 i)/ul,/u
v Uses a wide range of contextually relevant vocabulary (e.g. 83T, 5 %! i —D2 D R8T 5)
v’ Uses a range of contextually relevant conjunctions (e.g. ZN7=®HIZ. ZNTD.)

v All productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (3 marks)
v" Very high level of accuracy is consistent throughout.
v" Minor mistakes which do not affect meaning.
> &
«\ *A, «L ‘*A,
WDTANT 60)#17 HHX#’L’( > BRENDTRT 60,'%[,75 HX#’M;(’(
(Thls sentence fragment is grammatically correct, but would be more natural sounding if L %" was used

instead of 7= ¥, due to the negative tone of the content.)
Th & oF
=2 FEnT A e, //\0)7‘1 FTI00RERD) o D i—DDTRAMMHY L IRDTAITIO
Th &
OB EXS, (The first part ofthis sentence is areason.)

EENEEICLSY, xxﬂi/ﬁ’( %%’E LWEELEZIEDL . BOLT,D> EENLELEIZLSY,
Rt/ N LIH

RBIIHRT—FBE LVWEELIIEH L. LSLT

(To clarify meaning, the word “English” should be stated.)

Organisation (2 marks)
v"Information is well organised and clearly written.
v' The passage is written cohesively and flows very well.
v' Meets appropriate ji count. (292 ji in total)

10



Conventions of the text type (2 marks)
v" Key conventions of an email is used, including:

- acknowledgment of reply (A — V% H D 23 & H)
- appropriate greeting (Z A/ IC 5 (3)
- appropriate author (7 7) and recipient ({J A 72 { A)

- casual signoff (L . F7z4)

v' Uses plain form consistently.

v' Uses natural style of casual speech eg
Th &

SmEEL - 100£H 35|
SELW, SROFRMEVSRD?

BVE N3 <
v" Clear paragraphing is used.




IAnswer 2

Start your answer to Question 29 here,
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See next page VT
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Answer 2 comments

Content and relevance of the Response to the Stimulus Text (3 marks)

v
v
v

describes the study of Year 12 Japanese, including any challenges.
refers to the sender’s study of English.
provides advice on how the student may improve their English.

Range of grammar (3 marks)

S N N N N Y VR N N NN

A very wide range of ATAR 12 grammar is used effectively:

Relative Clause v ~f®HIic
~hi T, v ~L.
~&I1 v ~TZ%3
Potential Form v ~T$<
~LBE~ZH 1= v o~Ztn

Complex sentence structure is used:
HoeE &

¥ Th ¥
SENDBARENTAMIEST=REBIEIEELY B AL D TE/N\+ BB,
Th
EHEICEBYITELVKRFISITIIAISIC AT B ZEELIITLEIEI DV WES 2L,
2%
FALINTHEEN EF I N THRS>TWEND?

Wz Eo N MADY

—REH EE LW F A THLEH?

Range of vocabulary and kanji (2 marks)

v

v
v

RS cacd WAL
Uses a wide range of contextually relevant vocabulary (e.g. 79\ M2, & BrA . KE.
AT
BEERS)
Uses a wide range of contextually relevant conjunctions (e.g. 3. Z4U, ZHLE=S)
All productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (3 marks)

v" Very high level of accuracy is consistent throughout.
v" Minor mistakes which do not affect meaning.
N _ 4 th‘\t*? . _ N 14 ﬂh\\t‘%
SENBARBOTAMERSBAEIR. > SFENBERENT IR KA,
M A
SR D S TV BRPHEFEEFLE TR VL. D ZBEB A - TWABITY EFD EiFR
(AION

Organisation (2 marks)

v
v
v

Information is well organised and clearly written.
The passage is written cohesively and flows very well.
Meets appropriate ji count. (283 ji in total)

Conventions of the text type (2 marks)

v

Some key conventions of an email are used, including:

- appropriate author (7 7) and recipient (ITA 7= < A)

- casual sign off (L® I REBLXHF->T\ %, )

Even better if the acknowledgment of reply and an appropriate greeting was included.

Uses plain form consistently.

Uses natural style of casual speech eg

-FhldmR L L -LsED?

- ’)’(k\%@?

Paragraphing is used. To make the start of a new paragraph clearer, it might be suggested to indent
one box.

13



IAnswer 3

Start your answer to Question 29 here.
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Continue your answer to Question 29 here.
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Answer 3 comments

Content and relevance of the Response to the Stimulus Text (3 marks)
v' describes the study of Year 12 Japanese, including any challenges.
v refers to the sender’s study of English.
v' provides advice on how the student may improve their English.

Range of grammar (3 marks)
v' Avery wide range of ATAR 12 grammar is used effectively:

Complex sentence structure is used:
LD FZWANATH. HESDHRVWT, —EITFADOVHBEL TV WEVE I NN,
LYVELLWEITTBILTTOHS,

v ~L L))

v" Potential Form v ~THL
v ~dHIRS v i

v TR v ~E32
v~ T v ~pnwdSHic
v

v

v

Range of vocabulary and kanji (2 marks)
v’ Uses a wide range of contextually relevant vocabulary (e.g. %A Y. HELHB)

v/ Uses a wide range of contextually relevant conjunctions (e.g. #F 1Z. ZL T IZLH I TNEFL»
2<T,)
v" All productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (3 marks)
v" Very high level of accuracy is consistent throughout.
v" Minor mistakes which do not affect meaning.

e
s> Mo
BARZEL LFICEE L) 18450 T E LD > BARZEL EFISEE RS-
DT ELH-T=,

4
VWWEWEEPERNSD, DV WEWEENERNED,

Organisation (2 marks)
v"Information is well organised and clearly written.
v' The passage is written cohesively and flows very well.
v' Meets appropriate ji count. (256 ji in total)

Conventions of the text type (2 marks)
v" Key conventions of an email is used, including:

- acknowledgment of reply (A —/, H Y& 9H)
- appropriate greeting (Z A/ 1T B 13)
- appropriate author (7 7) and recipient ((J A 72 < A)
-casual signoff (L. TNTHKD3, )
v" Uses plain form consistently.
v' Uses natural style of casual speech eg
R (Z-TOR
Rcaw]
- K&,
- 7.’7\\\A/ Li\\ﬁ’(mo
v' Clear paragraphing is used.

15



2022 Examination Section 3 Q30

I Task and answer key

Question 30 (25 marks)

You have been asked to contribute an article to a Japanese high school newsletter on driving to
school, which is not commonly allowed by high schools in Japan. Write an article in which you:

e discuss the transport options for commuting to school in Australia, including your own
experience

e explain the positive and negative points of commuting to school by driving a car

e state your opinion about Japanese schools not allowing students to drive to school.

Criteria | Marks
Content and relevance
Engages the audience effectively with well-developed ideas and information by
writing:
Q30 Q31
* an article to a Japanese high school | * an article to a Japanese high school
newsletter newsletter
Provides highly relevant and elaborated content, addressing the following points:
Q30 Q31
* discusses the transport options for * describes how one has spent 6
commuting to school in Australia, earnings or allowance as a high
including own experience school student
* explains the positive and negative * compares own experience of
points of commuting to school by spending money with other young
driving a car people in Australia
» states opinion on Japanese schools | » states opinion about whether high
not allowing students to drive to school students should save money
school. for the future and why.
Provides relevant content, mostly with elaboration. 5
Provides generally relevant content and covers a range of aspects, with some 4
elaboration.
Provides generally relevant but superficial content. Some repetitive information. 3
Includes some relevant and basic content. 2
Response has limited relevance to the topic with minimal detail. 1
Does not meet any of the above performance levels for this criterion. 0
Subtotal 6

16



Range of grammar

Effective use of a wide range of grammar and complex sentence structures. 4

Uses a range of grammar and sentence structures. 3

Uses some grammar and sentence structures. 2

Relies on a limited range of sentence structures. 1

Does not meet any of the above performance levels for this criterion. 0
Subtotal 4

Range of vocabulary and kanji

Uses a wide range of vocabulary, including most productive kanji 4

Uses a range of vocabulary, including some productive kanji. 3

Uses a limited range of vocabulary and productive kaniji. 2

Relies predominantly on the repetitive use of basic vocabulary and limited 1

productive kanji.

Does not meet any of the above performance levels for this criterion. 0
Subtotal 4

Accuracy

Consistently uses language with a high level of accuracy. Orders words correctly,

chooses vocabulary appropriate to context, and use kanji'/kana appropriately. 5

Inaccuracies do not affect meaning or flow.

Uses language with a good level of accuracy. Word order is fairly accurate.

Words including kanjilkana are occasionally written inaccurately or inappropriately 4

chosen. Inaccuracies sometimes affect meaning or flow.

Uses language with some accuracy, sometimes omitting words. Words and

kanjilkana are often written inaccurately or inappropriately chosen. Inaccuracies 3

affect meaning or flow.

Some major errors evident in word order, word choice and kanji’kana use. 2

Sometimes difficult to comprehend meaning.

Many major errors evident in word order, word choice and kanjilkana use. Often 1

difficult to comprehend meaning.

Does not meet any of the above performance levels for this criterion. 0
Subtotal 5

Organisation

Sequences information coherently and cohesively. Appropriate length. 4

Sequences most information coherently and cohesively. Appropriate length. 3

Some sequencing and paragraphing is evident. Connections are simple and

straightforward.

Limited organisation impedes the flow and understanding. The connection 1

between the ideas is sometimes unclear.

Does not meet any of the above performance levels for this criterion. 0
Subtotal 4

Conventions of text type

Uses the conventions of an article. Uses the required polite form register

consistently and includes:

* atitle 2

* authorship

* appropriate opening

» statement of conclusion/advice.

Uses some of the conventions of an article. Inconsistent use of the polite form 1

register.

Does not meet any of the above performance levels for this criterion. 0
Subtotal 2

Total 25
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IAnswer 4

Start your answer here for: EﬁQuestion 30 or [1Question 31 (Indice:ate your choice with a tick.)
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IAnswer 4 continued

Continue your answer here for Question 30 or Question 31.
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Answer 4 comments

Content and relevance of the Response to the Stimulus Text (6 marks)

v
v

v

discusses the transport options for commuting to school in Australia, including own experience.

explains the positive and negative points of commuting to school by driving a car.

(*Even better if instead of repeating certain positive points, an additional negative point had been included to
ensure more balance.)

states opinion on Japanese schools not allowing students to drive to school.

Range of grammar (4 marks)

v

NN NENEN

A very wide range of ATAR 12 grammar is used effectively:

~ETW v ~RWT v ~HWNIC
Potential v ~F=®Ic v ~TE<
Relative Clause v B v ~E31252
Ni%’bz‘ﬂ-’b v ~TL35 v ~hTYE

Complex sentence structure is used:

. Th . H3 Th
THVWEEIFL»RT.EVWSELHYET,
B IATADAEL

BARICWEEIA W OEGERFLZLALTOENITOVTOAD LI HYETH,
r
BTHERIATLEREDKTAVET,

Range of vocabulary and kanji (4 marks)

v

v
v

(AR i
Uses a wide range of contextually relevant vocabulary (e.g. MAFMI (FA LA S W T EICLRW B2k
IALTA
EEEOLA)
Uses a wide range of contextually relevant conjunctions (e.g. TH. 72X 21X, ZHUI ZH5)
All productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (5 marks)

v
v

Very high level of accuracy is consistent throughout.
Minor mistakes which do not affect meaning.

e > S

IATA IATA

BEREESFSAVNWEBWET, D BELTHVVWEVI EZH-F5 VW B WET,

Y RSATFHDEIRVETH,

-3 zF
HE)E9->REYET
BA XX &> B A0 &K

ILTA IALTA

HEhaxx LA >EEOLY

Organisation (4 marks)

v

Information is well organised and clearly written.

v' The passage is written cohesively and flows very well.

*Even better if the essay had not gone beyond the appropriate ji count. (437 ji in total)
Conventions of the text type (2 marks)

v' Key conventions of an article is used, including:

-title ( [BBICHTITL 2 )
- authorship (F &« U —)

- appropriate opening
- statement of conclusion/advice (*Limited only to a question; even better if the conclusion was further

elaborated.)
v' Uses polite form consistently.
v Clear paragraphing is used.
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IAnswer 5

Start your answer here for: g]ﬁuestion 30 or [1Question 31 (Indicate your choice with a tick.)
300 ji sheet
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IAnswer 5 continued

Continue your answer here for Question 30 or Question 31.
300 ji sheet
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Answer 5 comments

Content and relevance of the Response to the Stimulus Text (6 marks)
v discusses the transport options for commuting to school in Australia, including own experience.
v' explains the positive and negative points of commuting to school by driving a car.
v states opinion on Japanese schools not allowing students to drive to school.

Range of grammar (4 marks)
v' Avery wide range of ATAR 12 grammar is used effectively:

~HEIH v ~T2%5% vV ~HWNR
~&HIBH v ~pnWT vV ~ATT
~LHH5 v Potential 7=\ v’ Relative Clause
~TLZED vV ~ILB~Z T
Complex sentence structure is used:

MNADHY

SHIBETERITITIERVWN F ZHEINIOVWTE IR VET,
REZR BRI EOTTERVWT ERIITIFS 2T,

SN A

REL-ZULBEROSITELOT, 29 ﬂTbivtl‘)ibto
ZNETTIIRTDAZTLITLHENTT,
IDIENA NAY

BARLEWREEIVEIIA - T 595> T, ’z}éil% BHEANER L BHIATT,
MAHY
FATVBEICE>T ETERIITLZEA VW % ADEINIIEHWVET,

9

AN N N N N T MR RN

Range of vocabulary and kanji (4 marks)
5552595504

H B AATLIITH B,

o
i

v Uses a wide range of contextually relevant vocabulary (e.g. #ADILH .
ThEW)

v' Uses a wide range of contextually relevant conjunctions (e.g. 3T ZNH 5. 7 2L, TH, Eid.)

v" Al productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (5 marks)

v Very high level of accuracy is consistent throughout.

v' Minor mistakes which do not affect meaning.
BRE—BADE LREVET, > FRAOBARGTEH E—BATLLRVET,
OR fE/;Flj fgsél“é’%;; %ktﬂ FrBuwiy,
(benri is an adjective; there is no noun for “convenience” in this context.)
FTHEIET
HDIEHESIFADIEH
AV EVERWIETT DAV ) Y EVW&munw e T,

vV BETERITIEEV WA EINREAVETH, PETERIITLILA VWA LI I EA VW ETA,

Organisation (4 marks)
v" Information is well organised and clearly written.
v' The passage is written cohesively and flows very well.
v' Meets appropriate ji count. (391 ji in total)

Conventions of the text type (2 marks)

v' Key conventions of an article is used, including:
-title ( THETHAICATL 2 8 ])
-authorship (37 + 74)

- appropriate opening
- statement of conclusion/advice

v' Uses polite form consistently.
v' Clear paragraphing is used.
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IAnswer 6

Start your answer here for: mQuestion 30 or [1Question 31 (Indicate your choice with a tick.)
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IAnswer 6 continued

Continue your answer here for Question 30 or Question 31.
300 ji sheet
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Answer 6 comments

Content and relevance of the Response to the Stimulus Text (6 marks)

v
v
v

discusses the transport options for commuting to school in Australia, including own experience.
explains the positive and negative points of commuting to school by driving a car.
states opinion on Japanese schools not allowing students to drive to school.

Range of grammar (4 marks)

A N N N N N NN

A very wide range of ATAR 12 grammar is used effectively:

Relative Clause v ATY v ~&5IR3
~EHERS v" Embedded Question/H &) H* v ~F®Ic
~L v" Potential v ~LiH5
~7pnESI v ~TE< v ~T%
Complex sentence structure is used:
T IATA 25
RIEA -7 TEGL CGRETEFENIATEIL,

z Th
R RAY TRV RAATWTHREVTOESBH O H 20 5T,

23 K DAEL
BTRZELESRMOATHVWL WO EETENBD TROGNENSRHEFR>TWVERFEITENR
YARTT.

v EAEW e} IALTA [(3r¥ <) PADY

THLAVI)RERBRRL B SIO T ABICEGZTELENHE0EIN F A THINELLBVZ

—d-o

. IALTA V?%:
BARDERIIFEHNBETLZ2OEHFLAITINVVERVET,
L&)

< IS FA
FHRDIDIZRITIDRAFILEEIIOITLNE N5 TT,

Range of vocabulary and kanji (4 marks)

v

v
v

w3 » b L
Uses a wide range of contextually relevant vocabulary (e.g. SWEFA S ATEE L HT. A FES.
A

&%)

Uses a wide range of contextually relevant conjunctions (e.g. L% L. %) L= 5, ¥IZHK)
All productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (5 marks)

v
v

Very high level of accuracy is consistent throughout.
Minor mistakes which do not affect meaning.
ARE D> ARDHS

B x HF> BEOMLS

BRIETEH<H 5> BIEIRTHVTWSHDS
BTN BeE=ED BTKNBLED

Organisation (4 marks)

v
v
v

Information is well organised and clearly written.
The passage is written cohesively and flows very well.
Meets appropriate ji count. (410 ji in total)

Conventions of the text type (2 marks)

v

Key conventions of an article is used, including:
-title ([A =X+ 7V TOEKEDEY] )
- authorship (¥4« X 1 X)

- appropriate opening

- statement of conclusion/advice

Uses polite form consistently.
Clear paragraphing is used.
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2022 Examination Section 3 Q31

I Task and answer key

Question 31 (25 marks)

You have been asked to contribute an article to a Japanese high school newsletter on money
and young people in Australia. Write an article in which you:

e describe how you have spent your earnings or allowance as a high school student
compare your experience of spending money with other young people in Australia
state your opinion about whether high school students should save money for the future and
why.

Criteria | Marks

Content and relevance

Engages the audience effectively with well-developed ideas and information by
writing:
Q30 Q31
* an article to a Japanese high school | * an article to a Japanese high school
newsletter newsletter
Provides highly relevant and elaborated content, addressing the following points:
Q30 Q31
» discusses the transport options for | * describes how one has spent 6
commuting to school in Australia, earnings or allowance as a high
including own experience school student
* explains the positive and negative e compares own experience of
points of commuting to school by spending money with other young
driving a car people in Australia
» states opinion on Japanese schools | ¢ states opinion about whether high
not allowing students to drive to school students should save money
school. for the future and why.
Provides relevant content, mostly with elaboration. 5
Provides generally relevant content and covers a range of aspects, with some i
elaboration.
Provides generally relevant but superficial content. Some repetitive information. 3
Includes some relevant and basic content. 2
Response has limited relevance to the topic with minimal detail. 1
Does not meet any of the above performance levels for this criterion. 0
Subtotal 6
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Range of grammar

Effective use of a wide range of grammar and complex sentence structures.

Uses a range of grammar and sentence structures.

Uses some grammar and sentence structures.

Relies on a limited range of sentence structures.

Does not meet any of the above performance levels for this criterion.

Subtotal

BOI=|INW(H>

Range of vocabulary and kanji

Uses a wide range of vocabulary, including most productive kanji

Uses a range of vocabulary, including some productive kanji.

Uses a limited range of vocabulary and productive kanji.

Relies predominantly on the repetitive use of basic vocabulary and limited
productive kanji.

Does not meet any of the above performance levels for this criterion.

Subtotal

PO = INWiH

Accuracy

Consistently uses language with a high level of accuracy. Orders words correctly,
chooses vocabulary appropriate to context, and use kanji/kana appropriately.
Inaccuracies do not affect meaning or flow.

Uses language with a good level of accuracy. Word order is fairly accurate.
Words including kanjilkana are occasionally written inaccurately or inappropriately
chosen. Inaccuracies sometimes affect meaning or flow.

Uses language with some accuracy, sometimes omitting words. Words and
kanjilkana are often written inaccurately or inappropriately chosen. Inaccuracies
affect meaning or flow.

Some major errors evident in word order, word choice and kanji'kana use.
Sometimes difficult to comprehend meaning.

Many major errors evident in word order, word choice and kanjilkana use. Often
difficult to comprehend meaning.

Does not meet any of the above performance levels for this criterion.

Subtotal

Organisation

Sequences information coherently and cohesively. Appropriate length.

Sequences most information coherently and cohesively. Appropriate length.

W (s

Some sequencing and paragraphing is evident. Connections are simple and
straightforward.

Limited organisation impedes the flow and understanding. The connection
between the ideas is sometimes unclear.

Does not meet any of the above performance levels for this criterion.

Subtotal

Conventions of text type

Uses the conventions of an article. Uses the required polite form register
consistently and includes:

* atitle

* authorship

* appropriate opening

» statement of conclusion/advice.

Uses some of the conventions of an article. Inconsistent use of the polite form
register.

Does not meet any of the above performance levels for this criterion.

Subtotal

Total
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IAnswer 7

Start your answer here for: []Question 30 or m(/:lues'tion 31 (Indicate your choice with a tick.)
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IAnswer 7 continued

Continue your answer here for Question 30 or Question 31.

300 ji sheet
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Answer 7 comments

Content and relevance of the Response to the Stimulus Text (6 marks)
v' describes how one has spent earnings or allowance as a high school student.
v' compares own experience of spending money with other young people in Australia.
v'  states opinion about whether high school students should save money for the future and why.

Range of grammar (4 marks)
v' Avery wide range of ATAR 12 grammar is used effectively:

~L v ~ATY
v RIS v ~HWTT
v ~£HRH v o~
v BT v ~RRn I
v' Potential v ~THL
v E9I v ~T3%
v Relative Clause
v" Complex sentence structure is used:
v BaIELVWHDEESIEDIEIN O TE DY FEFE A
v OERECACENELSES I BT ETAL LTS,
v 7f—XI~5'J7’(“Li%¥tii<7ii¥tgﬁf£%ﬁ’\gm4&>H:ﬁﬁ%jr%jé_%’(%wt‘\%Atst%/utﬁats
EEE-T(W)RVATT,

TLATE Wit A I

v BANGER TR BRERAAIC AL BBLAVLIIL BRERD TBVALVLLERL
Y,
vod t AR

< 3
v ZILELBERMHBADL, BESH->THHENRERE VST,

Range of vocabulary and kanji (4 marks)
2w ijM 1= TLATE
v Uses a wide range of contextually relevant vocabulary (e.g. £ ¥ 5. st@E % 1L (5. BAB%

Wit A

BRTW)
v’ Uses a wide range of contextually relevant conjunctions (e.g. £ 125K &5 L= 5, Z41I2)
v" All productive kanji from Unit 1 and 2 are used. They are written correctly.

Accuracy (5 marks)
v" Very high level of accuracy is consistent throughout.
v" Minor mistakes which do not affect meaning.
XXERDTED > BREBHTES OR BRLTH
XX BRERNT. > FRERELRNT,
(At the beginning of a new paragraph you must establish the subject of the first sentence)
TN ELTVREVRHE BT IDVN D LEBL 52T XX BN T 7/ PEL TV,
HEZ IOHPVEDSLLLLESS>TVWRVDT
FEBIF > TV B2RIIBE R EFELR VTR IEF->TUBMEEEFEHLRWT
LE5TXXB2H5-TWS
FoT X RVATTDR->TWRVATY,

_ l:h\r}\( _ l?L‘fJ‘(
17 Xxzt@E>17<st &

Organisation (4 marks)
v"Information is well organised and clearly written.
v' The passage is written cohesively and flows very well.
v' Meets appropriate ji count. (373 ji in total)
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Conventions of the text type (2 marks)

v

Key conventions of an article is used, including:
-title ( [HH L B8] )

-authorship (A 7V — - X 1 X)

- appropriate opening

- statement of conclusion/advice

Uses polite form consistently.
Clear paragraphing is used.
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Activities and Reflections

IActivity 1: Reflection on Q29

Read the text on the next page and make notes for each of the marking criteria.

Content and Relevance (3 marks)

Range of Grammar (3 marks)

Range of Vocabulary and Kanji (2 marks)

IAccuracy (3 marks)

Organisation (2 marks)

Conventions of the Text Type (2 marks)
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Start your answer to Question 29 here.
300 ji sheet
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Activity 2: Reflection on Q30

Read the text on the next pages and make notes for each of the marking criteria.

Content and Relevance (6 marks)

Range of Grammar (4 marks)

Range of Vocabulary and Kanji (4 marks)

IAccuracy (5 marks)

Organisation (4 marks)

Conventions of the Text Type (2 marks)
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Start your answer here for: [JQuestion 30 or [1Question 31 (Indicate your choice with a tick.)
300 ji sheet
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- Continue your answer here for Question 30 or Question 31.
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Activity 3: Reflection on Q31

Read the text on the next pages and make notes for each of the marking criteria.

Content and Relevance (6 marks)

Range of Grammar (4 marks)

Range of Vocabulary and Kanji (4 marks)

IAccuracy (5 marks)

Organisation (4 marks)

Conventions of the Text Type (2 marks)
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Start your answer here for: [1Question 30 or @/Question 31 (Indicate your choice with a tick.)
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Continue your answer here for Question 30 or Question 31.
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